YM-CL8HB YEOMAN CL8 HIGH OUTPUT BOILER STOVE gwman

Wil-CLEHE

MG x 25 HEX HEA P
ME HEX THIN NUT Mb NuT—..ﬂ_hH_hH‘. ' 1
S MUT B NUT 22 2
MEB WASHER x 22mm © N D .
L]
L]
ME HEX THIN NUT . " MG WASHER
20 * L-_-_‘_-_-_'_'_'_‘—'—-—Mt’: NUIT
MG NUT Eh\"‘_'"—'—-—-— M6 x 20 HEX HEAD
\ 3
19 4
B MG x 10 HEX HEAD
e, i,
\ *“".i;a. mE HEX THIN NUT
' M8 WASHER x 22mm O/D

MG % 16 COACHBOLT

MG % 10 HEX HEAD
MG MNUT
MG % 30 HEX HEAD

MG % 20 CAP HEAD
MG CRINKLE WASHER

MG x 16 BUTTOMN HEA 12
PRED04-2

Ref. Product Drawing No. Deschption

No. Code (if different)

1 CA7669 6" CAST FLUE

2 SM13 MEC7004 6" FLUE BLANKING PLATE

3 - ME501805 THERMOSTAT BLANKING PLATE

4 - ME501806 THERMOSTAT BLANKING BAR

5 CA7651 PLINTH

6 SM62 CA7111 LOG RETAINER

7 ST8-CA7480 CA7480 GRATE BAR - MOVING

8 ST8-CA7479  CA7479 GRATE BAR - FIXED

9 ST8-CA7464 CA7464 MULTI FUEL INFILL RIGHT HAND SIDE
10 ST8-CA7500 CA7500 BACK RIDDLING BAR

11 MEC8792 RIDDLING TOOL ASSEMBLY

12 RVN-CA7595 CA7595 THIN MULTI FUEL RIDDLING SOCKET
13 ST8-CA7584 CA7584 RIDDLING BAR

14 MEC8793 ASHPAN TOOL ASSEMBLY

15 ST8-MEC8155 MEC8155 ASHPAN ASSEMBLY

16 MEC8620 DOOR ASSEMBLY

17 ST8-CA7463 CA7463 MULTI FUEL INFILL LEFT HAND SIDE
18 SM19 MO0670CBLT M6 X 70 COACHBOLT

19 MEC8747 AIRWASH ASSEMBLY

20 ME600599

LATCH SCREW

21 ST8-MEC8802

MEC8802 BAFFLE ASSEMBLY

22 MEC8625

BOILER CARCASS

YM-CL8HB YEOMAN CL8 HIGH OUTPUT BOILER STOVE 1 YEOMAN HIGH OUTPUT BOILER STOVES SPARE PARTS LIST - ISSUE 1 - 10/10



YM-CL8HB YEOMAN CL 8 HIGH OUTPUT BOILER DOOR ASSEMBLY gznman

Ref.

M5 x 10 CS5K SOC HEAD SCREW

M4 x 8 CSK SOC HEAD SCREW: 15

10

M4 x 25 PAN HD SCREW

MEC8606 / MEC8628 / MEC8620

Product

Drawing No.

No.  Code (if different) DeSCription
1 CA7615 CAST DOOR
2 MEC8619 DOOR HANDLE ASSEMBLY
3 FA500024 WAVE SPRING - YRW-0087517
SPRING 6.TMM O/D X 0.6TMM DIAMETER WIRE
4 FA9508 FAS00016 S G
5 FA500025 TORSION SPRING
6 CA7635 DOOR HANDLE CAM
7 MEC8636 HINGE PLATE ASSEMBLY
8 ME600392 AIR CONTROL HANDLE
9 ME600449 PRIMARY AIR SLIDER PLATE
10 CA7649 AIR SLIDER
11 CA7648 GLASS CLAMP
INSULATION TAPE (BLACK) 5MM X 2MM X
12 495274957  CE7818 450MM (4957) - AVAILABLE IN 2M & 25M
ROPE SEAL (BLACK) @14MM X 2300MM (4670)
13 5000/4670 CE7735 AT ASLE N Mt & o
ROPE SEAL (BLACK) @14MM X 410MM (4670)
13 5000/4670 CE7783 AL ADLE I 2h 2 e
SELF ADHESIVE TAPE (BLACK)
14 4950/4954  CE7739 15MM X 2MM X 1110MM (4954)
AVAILABLE IN 2M & 25M
SELF ADHESIVE TAPE (BLACK)
14 4950/4954  CE7803 15MM X 2MM X 470MM (4954)
AVAILABLE IN 2M & 25M
15 ME600457 AIRWASH SLIDER PLATE
16 CE7705 DOOR GLASS
17 FA9510 ME7702 SHOULDER SCREW
18 MEC8865 CATCH SLIDER ASSEMBLY
19 ME600410 DOOR CATCH BLOCK

YM-CL8HB YEOMAN CL 8 HIGH OUTPUT BOILER DOOR ASSEMBLY

M5 x 12 CAP HEAD SCREW-

o« e
3
M4 x 10 SOC HEAD GRUB SCREW

7 6
M6 WASHER M6 x 12 BUTTON HEAD HEX SOCKET
M6 SPRING WASHER
M6 x 12 CAP HEAD SCREW
5 x 10 CSK SOC HEAD SCREW
M4 x 8 CSK SOC HEAD SCREW

PR8902

1 YEOMAN HIGH OUTPUT BOILER STOVES SPARE PARTS LIST - ISSUE 1 - 10/10



	YM-CL8HB Boiler Spares
	YM-CL8HB Door Spares

